I. Vsi glagoli so v navadnem sedanjiku. Vpisi njihove pravilne oblike.

Lisa is (1) a nurse. She (2) in a hospital. Six days a week she
(3) at five o'clock. She (4) her breakfast and

(5) work at six. Lisa (6) two colleagues who

(7) in the same block of flats. They (8) a car, so they

(9) a taxi to the hospital. The three nurses (20) hard

and they (11) tired at 8 o'clock in the evening. Their job

(12) easy, they (13) very much money, but she

(14) her job. In the evenings Lisa (15) television or
(16) out with her friends.

Il.  Vstavi glagole iz okvircka v pravilni obliki na ustrezno mesti v besedilu.

be eat dress take study have do notbe go getup
nothave be go be notbe nothave

Every day Barry gets up (1) at 6.30 a.m. and (2) some exercises in the

garden. Then he (3) a shower. He (4) late, so he

(5), (6) downstairs and (7) his
breakfast. He (8) a student. He (9) a car, so he

(10) the bus to take him to the university where he (12).
He and his colleagues (12) much time to spend, anyway sometimes they

(13) to the cinema together. The students' tickets (14)
very expensive, they (15) only £1.75. His favourite film

(16) "Silent Streets".

Resitve

l. (1) is, (2) works, (3) gets up, (4) has, (5) starts, (6) has, (7) live, (8) don't have, (9) share, (10) work, (11) are, (12) isn't, (13) don't earn, (14) likes, (15)
watches, (16) goes

Il. (1) gets-up, (2) does, (3) has, (4)isn't, (5) dreses, (6) goes, (7) eats, (8) is,, (9) doesn't have, (10) takes, (11) studies, (12) don't have,(13) go, (14)
aren't, (15) are, (16) is






